
•
• π 
•
•



1.1 

a. 

c. d. 

b. 



6b. 31.42 cm

π 
= π

3 π 3.14

(cm) (cm)

a. 125.66 cm

1.2 

3.14 



1.3 

1.
a.

b.

2. 
= π

43.98 cm

3.14
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2.1 

1. 100 cm 314.16 cm = π 

2. 

r
• r 
• r

1.
4 cm 2 cm2 

4cm 4 cm2 

4cm cm2 cm2 

2.
15cm 2 cm2 

15cm 4 cm2 

15cm cm2 cm2 



2.2 

1. 12 cm

2. 
11cm 2 cm2 

11cm 4 cm2 

11cm cm2 cm2 

= π
= 3.14

2 cm 
= 2 2 3.14

3.14

12.56 cm2 



6

2.3 

12 cm
a.

b. 3.14

10 cm 
5 cm 

= 10 10 3.14 – 5 5 3.14

235.5 cm2 



2. 

2.4 

1. 2.5 cm

20 cm
10 cm 10 cm

= –

57 cm2



6

1.

a. 18 cm b. 13 cm

2.

a. 7 cm b. 25 cm

3. 3.14 

a. 9 cm b. 30 cm

4.

5.

2.5 





•
•
•



1 7

(L)
(M)
(Mi)
(J)
(V)
(S)

1.1 

(L) (M) (Mi) (J) (V) (S)

a. 1
1

b. 1
1

1

6
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1. 6 3 6 5 6
7 3 6 4 ?

6

( )
(L)
(M)
(Mi)
(J)
(V)

1.2 

1
1

= 

2. 4 5 5 4
3 7 6 4 8 4 ?

7



1 0 0

1.3 0

1

(L) (M) (Mi) (J) (V) (S) (D)

a. 1 (
1 )

b. 

6 10 6 11 6 12 6 13 6 14 6 15 6 16 6 17 6 18 6 19 6 20

2. 2017 6 10 6 20 ( )

1. 



7

1

= 
5 1 8 5 (

)

1.4 

1. 2019 7

2. A 3 3 2 0 4 0

2. 1 11 15
?

1. 1 5
7 ?

5 40



1.5 

1. 11 12 15 0 13 0 9 17 0 14

12 XL ?

2. 6
6 11 25

7 15 13 ?

2. 1 445 1 ?1 30

1. 



7

2. 6 5 7 4 11 6 2 6
6 1 ?

1.6 

1. 1 16.50 3 ?1 4

2. 1 11 16 12 20
12 ?

1. 5 1 0.92 6 1.4
6 1 ?



1.

a. 10
33 25 35 30 25

38 40 37 45 32

b. 8
5 0 7 8 6 2 0 4

2.

6 4 4
27 6
?

3.
6 1 5
6 5 7.50 3 4 4

4
?

4.
300 13 14 5

67

6 73 6
?

1.7 
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2.1 

?
2

1. 3

a.

b. 

2. 25 15 5 35 30
20

a. 

b. 



2.2 

10 12 10 11 12 12
11 10 10 11 11 10 10

a. 

10
11
12

b. 

2. 1 15 19
16 15 17

1. 6 11 38kg 35kg 38kg 38kg 36kg 39kg 37kg 39kg
36kg 37kg 37kg



7
1. A B 

2.3 

1. 8 7 7 10 9 7 8 9 7 7 8 10 7 7 7 9 7 8
7 9 9 7 7

2. 7 47 cm 50 cm 48 cm 52 cm
53 cm 48 cm 50 cm

( )
2

2

18 20

?
6 6

?11 12
11 12 13 12

11 11 12 12 12
13

12
12

2. 10 m 20 m 30 m 15 m 25 m 35 m

A
B



1.

a.

b. 0.80 0.95 1.10
1.25 1.50 2 2.50 3

2.

2.9
2.8 2.9 3 2.6 2.7 2.8 3 5

3.

8 24 C 24 C 25 C 24 C
23 C 23 C 24 C 26 C

2.4 



7

35 (2018 8 26 9 1 ) www.salud.gob.sv

a. 5 ?

b. 18 6
?

c. 6 26
?

d.
?

1. 2015 4
3 12 5



3. 4

b. 11 30 11
?

b. ?

10 30 25 25 25
30 35 45 25 30 40

a. ?

35 (2018 8 26 9 1 ) www.salud.gob.sv

a. 4

2. 1 30



•
•
•
•



1.1 

1 1 cm 

•

• 1 1 cm 
• 2 
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1.2 

1 1 cm 

• 1 cm3

• 1 cm3

1 cm3 6

6 cm3 



b. 1 1cm

2.

a. 1 1 1 cm 

c. 

1.3 (1)

a. 

1 1
1 cm

= 1 

c.

b. 

a. 1 1 1 cm 
1. 

b. 
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b. 

c. 

= 

= 

=

1.4 (2)

1.

2.
a. 1 1 1 cm 



1.5 ( )

b. 

a. 1



8

1.6 ( )



b. 

• 1 1 m 1 m3

•
• 1 m3 = 1, 000, 000 cm3

1.7 

2
a. 

m3 



8

2. m3 cm3 

a. 

1.8 

1.

•
1, 000 cm3 = 1 

• 1 = 1, 000 ml 

b. 



2. 15,000 

• 1 m3 = 1, 000 
• m3 1, 000 m3 1, 000 

12 m3 1,000 12 = 12,000 
12,000 

2,000 m3 2, 000 1, 000 = 2
2 m3 

1.9 

1. m3 

2. 

1. 7 m3



8

1. 1 cm3 

2. cm3 m3

3.

4.
a.20 m3

b.4, 500 

1.10 



3

cm3 

1 1 cm 1 3 cm 4 cm 5 cm 



•
•



2. 17m
20

3. 9m
(

1. 

b.42cm

1.1 

a a 0.84 

b 0.84 b

15 

12.6 m

3.36 m

4 v

(
a.1km



9 

2. 1, 500 v2 1, 000 m2 

10, 000 v2 (= 100 v 
100 v) 1

1.2 

v

•

4 v2

2.8 m2

4.2 m2

6 v2

a v2

b 0.7 v2

a 0.7 (m2)

b (m2)

1. 



1. (v) (m)

2. (m) (v) 

3. ― (v2) (m2)

4 (m2) ― (v2)

5. 160
140

6.
3, 000 v2  2, 100 

m2  

1.3 



9 

1 19,000 4.5

2 17,500 350 a

3 30,000 4 ha

4 18,000 35,000 m2

5 20,000 5

6 18,000 45,000 v2

a. 

b. 

6



•
•
•
•
•



b. D E F 5

c. A B C D 10

d. D E F G 11

1.1 

a. A B C 8
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b. 8 4

1.2  

9

2

7 2 

a. 8 3



1.3 

a. 6 6

b.

1 1 2

2
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2.

1.
a. A C E 

b. AB FG 

2. A B C D 

a. AB CD

b. x

1.4 

1. 2 7

•
•
•
•

G B CD FE



2. r 

b. AH 

c. CG DG

a. 
?

b. 
BK
LH
DM

2.
a. B C E H

b. AB EF

1.5 

1. 

•
• 2

a. BE
1. r 
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b. EF 

c. x

d. BI 

r
2

1.6 

r 
a. AB 

r



1.
4 1

2.

3.

A D DE 
x

4. 1

1.7 



10

2.1 

180
360

A 90 180 270

A

270

18090



2. 180 A

b.

2.2 

1. B

180

180

O

a.
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b. AB BC

c. AB BC

d. x y

2. O

2.3 

1. A

• 180
•

O A D DE 
AB 

O

a. A B C 



b. AB BC CD

c. x y

2.4 

1. O

• 2
• 2

A B C D O C
A D B

• AC BD O
• AO OC
• BO OD

a. 

b. M N P Q 

2. O
a. A B C D 
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b. M N 

c. FG

d. x

2.5 

a. 

O



1.

A

2.
O

3.

4. 1

2.6 



10

3.1 

4

1.
a.

b.

c.

2.
a.

b.

c.

1



•
•

5 5
6 6

3.2

1.
a.

b.

9 10 )

2.
a.

b. 

b. 

a.
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1.

3. 

1 2

2. 

1 2



•
•
•
•



2. i, n, o r
r

1. M L
S C

1.1 

A C J M

1 2 3 4

1 2 3 4

1 2 3 4
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1.2 

A R V 3

A J C M
(a) (a) (a) (a)

(a) (a) (a) (a)

1 2 3



2 2 2

1.3 

1. 4

Ab

2. M B A 3

(A) (Ab) (D) (I)

1 2 3
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b. 

1.4 

M C D
a. 

2 1 6 2 5 7

2 C
M Z N



2. 2

1.5 

1. 2
2

b. 1

6 2
4 4
2

a. 
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2.1 

1. 2

b.

2. 4 2

a.2

1 4 4 1
a. 1

b.

c.



1.

2.

3 1 2 3
4 3

3.

3 2

4.

6 10 5
2 2

5.

6 10 5

2.2 



3
;

11

• P R
• P T
• T P

3

a.
P

T
T P

b. 

c. 

d. 

e. 

(P) (R) (T)





1. 6

2.

3.

4.

5.

6.

7. 2 (mcm)
18 24 mcm

8. 2 (MCD)
16 32 MCD



1.
42 cm 5 cm
a. 42 cm 5 cm ?

b.
?

2.
A 8 B 6

A 56 m2 B 36 m2

?

3.
(170 cm) (160 cm)

4.
600 ml 400 ml

5.

a.

b.

c.

1 2 3 4 5
3 6 9 12 15

8 9 10 11 12
71 72 73 74 75

(km/h) 1 2 3 4 5
(h) 12 6 4 3 2.4



1.

2.

3.
2 cm

4.





1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

1



1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

2



1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

3





1
8 1.1

2. a.

b.

4. a.11 6 = 1, 5

9 , 1.2

10 1.3

:

:

11 1.4

( )

( )

( )

( )

( )

( )



12 , 1.5

( )

( )

2.

( )

( )

13 , 1.6

36 

14 , 2.1

1.

15 , 2.2

16 , 2.3  

2. 



17 , 2.4

19 , 3.1

20 , 3.2

21 , 3.3

22 , 3.4

2. 



23 , 3.5 

24 , 3.6

25 , 3.7

26 , 3.6



2. 1

2

27 , 3.9

1. a.
d.

b.
e.

c.
f.

2. a.
d.

b.
e.

c.
f.

28 , 3.10

2. 45 45 45

2
32 , 1.1

cm

cm

3. a. 1 16 6 21

33 , 1.2

a.

1. a.

34 1.3

1. a. 10 10 + 6 = 16
12 12 + 6 = 18
15 15 + 6 = 21



35 1.4

cm

cm

36 , 1.5

1. a. 55 68
83 40

b.4 8 = 32 
2. a. , 3 x.

b. , 2 x.
c. 10

37 1.6

(h)

km

2. 5 x

x – 2  
x – 2 + x

38 , 1.7

2. a.
b.

1.
3.

2.

39 , 1.8

2.

1. a. x -7
b. x = 20; 20

20 – 7 = 13

2. a. 85 x x
b. x = 7; 7 595

3. a. , 5 y
, x – 5 y.

b. x = 10 y = 0.5; $10 
$0.5

$2.5 $7.5 

1.

1.

2. a. 84 59 34



40 1.9

a. 0.5 x + 2 y
b. 10 2

9

1.

2.

3.

4.

42 2.1

2. a. b. c. d.

43 2.2

2. a. b.

44 2.3

1. a. b.

45 2.4

1.

1. a.VV → 5 + 5 10

X
b.
c. LIX
d. CCXV

2.

3
50 1.1

51 1.2

2. a.1 m 2
10m 5 5
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b.

5

52 1.3

2.1 m2 1
100 m2

100

53 1.4

1.

250 

2.

6 

54 1.5

11. 4 1
2

2. 7

55 1.6

12

56 1.7

1. 15

2. 20

57 1.8

1. 6

1. a.
d.

2. a.

b.
e.
b.

c.
f.
c.



59 2.1

1. 33
16 cm

2.
4545 45

1. a. 1

2

60 2.2

1. 1
3

1
3

1
3

61 2.3

1. 3

2.

2. 7

62 2.4

1.

63 2.5

1. 48 

64 2.6

1. 91 

65 2.7

1.26

2.



4
70 1.1

1. 3.25 3
13
12

2. 1.125
3. 3 

1.134

71 1.2

a. b.3 

1. 60 0.2
12 W

2. 11 km

72 1.3

1. 3 
2. 6

1. 9 1.8
5

2.14.28 ha

73 1.4

1. 5 m
2. 1218.75 m 

1. 2 3; 2 3 2
3

2
3

2. 1.3

74 1.5

1. 40 cm
2. 1.2

1. a. 200 5, 40
b. 40

2. a. 15 500, 0.03
b. 1,000g 0.03

75 1.6

1. 2; 2
2. a. 12 15 0.8

b.
0.8

1. 0.75 12 0.75 = 
9 

2. 9.6 

76 1.7

1. 2
3

2. 6

1. a. 

2. 55 



78 2.1

72 60 1.2 

a. 0.4  
0.5 

0.4

b. 40 % 
50% 

40 %
c.

79 2.2

a. 2
3

b. 66.6 % 

1. a.0.05 100 = 5 5 %

a.120 %
b. = 5

= 6

80 2.3

1. a. 0.08
b. 8

2. 160 %

81 2.4

( )

( )

1. a. 10 100 = 0.1 
= 20 0.1 = 2

2
c. 120 d.49.5b.15

2.1.1 
3.38.5 kg

82 2.5

1. 175 %

1. 100 % + 15 % = 115 % 
115 100 = 1.15 

= 200 1.15 = 230
230 

2. 35.7

83 2.6

1. 20

a. • 113 100 = 1.13 
5 1.13 = 5.65
$ 5.65

• $ 6.215
b. •13% 4 0.13 = 0.52

4 + 0.52 = 4.52
$ 4.52

• $ 3.50

( )

( )



84 , 2.7

1. 81
2. 259.9

a. • 100 % – 15 % = 85 %
85 100 = 0.85

0.85 30 = 25.50
$ 25.50

• $ 1.35
b. • 25 100 = 0.25  

3 0.25 = 0.75
3 – 0.75 = 2.25

$ 2.25
• $ 21.12

85 2.8

a. $ 56.50
b. $ 42.375

1. 110 100 =1.10  
= 165 1.10 = 150  

150
2. 30 

86 2.9

1. $ 59.50 2. 18

1. 100 % + 50 % = 150 %
150 100 = 1.5  
24 1.5 = 16
$ 16

2. 250 kg

87 2.10

1. 120 
2. $ 25

1. = 20 0.8 = 25
25

2. $ 40

800

5
92 1.1

5 4
15 x

12

5 2
x 12

30
2. 9

2 1
2

x 3

12

93 1.2

24

1/3
3 4 = 12 16

2.



94 1.3

1. 8

1. a.10 : 8, 

10 : 8  5 : 4

2.

95 1.4

1.

20 1 2

96 , 1.5

2. 13 42

97 1.6

1.

1. a.

b.
7

15
7 15 = 21 45.

2. a.
b.

98 1.7

2. a.
b.

1. a.3 10 = 12 x 3 4 12
10 4



99 1.8

(g) (g)

100 1.9

101 1.10

1.

6 4 = x 10.
6 x 10 = 4 x

60 = 4 x x
x 4 60

x = 60 4 = 15
15

2. 5.5 cm

102 1.11

1. 63 9 = 7

4 x 7 = 28
5 7 = 35 

2. 30
75

18 cm
8 cm

104 2.1

20 g 

a.

b. 72
c. 96

105 2.2

($)

b. 6 $120
10 $200

2. 49
2 (= 24.5) 

(5) (4) 
2. x = 50



b. 15

($)

b. 4

106 2.3

a.

($)

b.10 $50.
12 $60.

c. 5, 5

a.

($)

b.

c. ( )

107 2.4

a. 55 km 
b.

x (cm)

y (cm)

x (cm)
y cm)

108 , 2.5

1.
x (km)

y km

x
y

y x

x

y

y x

109 2.6

x
y
y x

1.1 g 450 6 = 75
200 g 200 x 75 = 15,000

15,000g

110 2.7

x

y
y x



b. y = 25 x
2. 44 cm

1. 30 7.5 = 4
7.5 4 = 30 

4 4
2.5 4 = a

10 
2. 5

112 3.1

1.
(cm)

cm

2.

(m)

3.

(ml)

113 3.2

(cm)

b. 120 cm 
c.
d. 10
12 cm

100
1.2 cm

114 3.3

cm
(cm)

b. 420cm2

c. 

a.

b.

(g)

115 3.4

1. a.
(km/h)

(h)

b. 2

(kcal)

a.
x (ml)

y

x y



116 3.5

1.

x ( /

y

x y

15 a = 450 a = 450 15 = 30 
30

118 3.7

a. x

y

x y

224

b.
c.

6
122 1.1

123 1.2

124 1.3

1. a.3.14
b. π 

2.3.14

a.
9.42 cm

b. 28.26 cm

125 2.1

1.3.14
2. l = 37.68 cm

1. 
4cm 2

32 cm2.
4cm 4

64 cm2.
4cm , 32 cm2

64 cm2

2. 
15cm 2

450 cm2.
15cm 4

900 cm2.
15cm , 450 cm2

900 cm2

6 cm2 12 cm2 

126 2.2

1. 75.26 cm



b. 99.585 cm2

7
132 1.1

7

6

133 1.2

9

5
2. 5 

134 1.3

6 

b. 6 

11

2. 
11cm 2

242 cm2.
11cm 4

484 cm2.
11cm ,242 cm2

484 cm2

a.

39.25 cm2 

127 2.3

a. 12cm ,288 cm2 576 cm2

b. 452.16 cm2

a.

401.96 cm2  

b. 285.74 cm2

128 2.4

1. 19.625 cm2

2. 25.12 cm2

a.

b.

17.12 cm2



1. 0.92 x 5 = 4.6

4.6 + 1.4 = 6; 1.4

6 5 = 1.2
1.2

2. 17

2. 1

135 1.4

1. 1,835 
2. 2

( )

( )

35 
2. 165

136 1.5

1. 9.1
2. $ 13,350

1. 12 5 = 60

137 1.6

1. 198
2. 6

139 2.1

b.

b.

140 2.2

10
11
12

b. 10

37 kg
2. 16

141 2.3

1.
2. 50 cm

XL 2
2. 14



1.
A
B

A
B

8
146 1.1

a.

b.
c.
d.

147 1.2

a. 2
2 cm3 

148 1.3

a.

1. a.1 3
2 cm

3 2 = 6
6

b. 5 cm 5 
5 

c.1 6 5 

6 5
30cm3

2. a. 3
b. 4 
c. 12 cm3

149 1.4

1. 2 cm3

2. a. 9
b. 3 
c. 27 cm3

a. 3 x 4 x 5
60 cm3

b. 60 cm3

150 1.5

a. 1 25 2 
b. 50 cm3

a. 2 (

10 3 8 = 240
10 4 6 = 240

240 + 240 = 480
480 cm3

b. 500 cm3

2. 22.5



151 1.6

a. 20 cm3 b. 210 cm3

10 6 4 − 7 3 4
156 cm3

b. 152 cm3

152 1.7

a. 171 cm3 b. 171 cm3

a. 7 3 6
126 m3

b. 66 m3

153 1.8

1. 72 cm3 2.m3 8 m3

cm3 8,000,000 cm3

a. 20 10 50
10,000 cm3

b. 10

154 1.9

1. 225 m3 2. 20

a. 7 1,000
7,000

b. 15 m3

9 
158 1.1

2.
3.

a. 1,190.5 v b. 0.5V. 

159 1.2

2.

7,000 m2

10
164 1.1



165 1.2

166 1.3

b.

1.

167 1.4

2.

1. a. A H
C F

E D
b. AB HG

FG CB
2. a.AB = 2 cm DC = 5 cm

b. x 120



171 2.1

180

90

172 2.2

1. 270
2. a.

b.90

180

O
O

173 2.3

168 1.5

1.
2. a. B G

C F
E D
H A

b. AB HG
EF DC

1. a.
b. FH
c. C D

(
)

2. a.JA, IB, HC, GD FE.
b. BK IK IK

LH LC LC
DM GM

GM

169 1.6

a. AB 4 cm.
b. EF 2 cm.
c. x 225
d. HI

O
O



177 3.1

O
P

2. a. 4
b.

178 3.2 

1. a.
b.

2. a.
b.

a.

5

b.

a. A D
B E .
C F

b. AB DE
BC EF

c. AB = 6 cm BC = 2.5 cm
d. x 80

y 35

174 2.4

1. 180
2. a. A E

B F
C G
D H

b.AB = 4 cm, BC = 3.5 cm CD = 3 cm.
c. x 130

y 50

a. O

b. M W
N X
P Y
Q Z

175 2.5

a. O
b. M P

N Q



185 1.4

a. 6
b. 2

6

10

186 1.5

1. 12
M - J, M - C, M - A, J - M, J - C, J - A, C - M, C - J, C -
A, A - M,  A - J A - C

2. 6

6
b. 3

187 2.1

1. 3
2. a. 6

a. 3

a. 4 1 , 2, 3 4
b.

11
182 1.1

1. 6 .

2. 6

183 1.2

6 4 = 24
24 

184 1.3

1. 6
2. 6

6 56, 57, 65, 67,
75 76






